(88-537) N>79PIR-R2Y NITIWPIN ITOWRINA :0TIPA I PONRY
18.02.19 :'N 7vn,'N “vonD

¥o bRoa BB R

MY W 7ma 7T

RN RO 01192 NRNRR 9207 Pt nnY 1-5 nioRws B2 by nuyb we

,d=AB' W 1 .Q wn Yy mmp1 A B,C,AB',C' v (mmp115) .1
,L=dnd' mmpam™.g'=B'C ,g=BC' ,f'=A'C ,f=AC',d'=A'B
.N=gng' M=fnf'
DTN uewN? 11219 0"V 0aNRY VY 201000 MveaRa Pascal vown nol X
.09 70N VIVO 'Y R PY0 DWW WIAT 0OWAT IR IOR? .2
AW DOWOWNA WANWRR NP WINT vawnT IR 19912 ,Pascal vvon N2 A
higken)

Cf(X)=x DX f W naw nTPINRIPI x ATpI (Mmpa25) 2
.0,3,0 MTPI> 0,1,00 MTPI AW £ NP200P™MID Tpnya XA X
7w OR f W mawn emmpn 2
.0,-6,6 MMpI> 3,-3,9 nAwa g NP2LPND PNV RYD A
7w OR g YW nawa mmmpaI T LT

STAVAN NOOVPRIND TEAMDOIY R¥Y (MTP125) .3
2XY +1=0 v XX +y° =1 2wn X

X =2XY +1=0 v XX +y =1 2wn a2

—4X* -9V’ +1=0vnTnn? X +y> =1 wn A

(Mmp120) 4
W P2 NPUPRINDY NPCVPO0ID DWW 2T DR N0 %2 TAT X
D20PRIND WONA OP2VPRIND
MY S 72007 AN RO W DWW P2 NPOLRPRINBY 1o .2
NTPIRPVPO0D
S0 o910 TWon DWW 2077 X OMXYL 4w P2 DY2WPRXID DD aNng A
N1PIRP2VPO0D

,0°25W32 NUMDY P12 UN WA MmNl 1Pl A,B,C,A,B' v (mmp1 15) .5

nR¥AIT (Y #A 995 7772) Y ex ampimemy A 77 x oMW e av 32 nnnn
LA,B,C,A'",B' 717 "2wn vInn nnn Yy

W ann XY o L E 099K 7In2 DR¥AIT MWURa 7Pl P ooan (MTpl 10 212 nhRw)
PRI . A=sN7 TN X,Y MMpia qo9oKh opwn st P L P ampl 717 "awa E

w2 AN L A'=s'met an X LY aoopwn sLe' P 717 mR o XY o T
P amipao a1 R p W o2 ST IR 1 L p = AAT

'mnbxna



